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Instructions :

(i) All questions are compulsory.

(ii) Q. No. 1 to 5 are objective type quesiibns.

(iii) Internal options are given in Q. No. 6 to 26,

(iv) Marks allotted to each question are mentioned against each question.

(v} Draw the neat and clean diagram wherever required.
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(1) T f’"ﬂq apy -+ hl_]r+c| =0 adl azx+b2y+f-'2 =0 % = IS
W o gy -
b c (
@ & " ® 2, b
- a (4 a b _ 4
© mepeld g Deged
SUREEL IR y 7 A
(i) 9:25 =1 R ¥ - _
(a) 81:625 b 3:5
(€) 25:9 d) 18:50
i) o whEm ad +bxbe=0 % uAt @ deA ¥ -
oy & - b
(@ = ® —
a _a
(c) - | (d) 5
(v) T R A R A LC FAw ¥ -
(a) S5¢ (b) 220°
(c) 709 (d) 180°
(v) al @i B o, S Sug B 3 T 9 A 3w v g @ eew
B M - B
fﬂ) 459 (b) 6090
(c) 30¢ (dy 90°
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Choose the correct option and write it in your answer book :
()  System of equations ax+by+o =0 and X+ byy+cy =0 has

infinitcly many solutions if

(1 a b ¢
® AR © Eh
2 2 2 2 2
az hz C‘z az bz Cz
(1) Inverse ratio of 9:25 is
(a) 81:625 (b) 3:5
(c) 25:9 - (d) 18:50
(i) Sum of the roots of quadratic equation ax? +bx+c=0 is
¢ b
(@) - ® -=
a - a
(c) - (d) %

(iv) The measure of ZC in the figure given below is

(a) 550 (b) 2200
(c) 70° (d) 180°
(v) If the length of the shadow of a person is 3 times of his height,

then at that time the angle of clevation of the Sun will be
(a) 45° (b) 600
(c) 300 (d) 900
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2 T W @ o B 1x5=5

O x+ W d e

(i) T + == =
(iii) Pyt amey B ¥
(iv) fem Sumt @ Tt ¥

W r Bw TR iR B e w ¥
Fill in the blanks :

. o 1
(1) Additive inverse of 1‘+; is

(it) Prncipal + Interest =

(iii) triangles are similar.

(iv) The rate of educational cess is

(v) The formula of the volume of the hemisphere of radius r is

T () N (3) |

(i) tanf-cotd (a) cosH
(ii) sin50°—cos40° (b) sec2 9
(iii) sec(90-8) | ¢ 1
(iv) 1-sin’® (@ cosechd
™ 1+ tan2 _ (e) cosec? 8

| ® o

©) cos?®

somsa] L | NN | >ro



Match the columns

Column (A) Column (B)

() tanB-cot@ ~ (a)  cosB

(i)  sin350°—cos40° {b) secZ 6 |

(it} sec(90-8) _ {c)*. 1

(v} y1-sinle (d) cosecH

(v) 1+tan®0 (¢) cosec?®
® 0
@  cos’d

4 Preaffea ¥ v ) oww fefeg 15=3

() P+3vx+7 @ @R Y

(i) "= &7 TWE ST ¥ |

(i) 39 & f&i Rrg o A9 ™ wel @, wet g 4 o T B w
T E - |

(iv)?@ﬂilw=%xaﬂ=l$r@lmﬂ! -

(v) oiwEi 2.6, 9 7, 8 % wRAH 9% |
Write True / False in the following :
(i) x?+3+4x+7 is a polynomial.

(ii) Entertainment tax is a direct tax.
(iti) A tangent 1o a circle at any point is perpendicular to the radius through the
point of contact.

|
(iv) Volume of cone =EX Volume of cylinder.

(v) Median of data 2, 6, 9, 7, 8 is §,

i, | - .
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() fuwfox A x & 99 | Gy ? TE AB=CD

(i) BT x-2y=2 ¥ afk x=0 & ¥ AW FW ¥ ?
(i) 39 A TaF «& A = W fafag |

(V) T5 wva w @ v wn A 2

(V) s B & e ' e e om fafag

Write the answers in one word / sentence : -

(1) What will be the value of x in the figure given below ? Where AB=CD

(i) In equation x-2y=2 if x=0 then what is the value of y?
- (i) Write the name of the longest chord of the circle,

(iv) What will be the probability of impossible event ?

(v) Write the name of the longest side of a right angled triangle.
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Write two conditions for the similarity of the triangles.

W91 [/ OR

A BYS ABC AWl pDEFY¥ L A=45°, sB=60°, LC=T5°, LD=45°

LE=60°, ZF=75°.

mﬂa&rﬁﬂmﬁs%mtmaﬁ PR B A A& 7

In two triangles ABC and DEF ZA=45°, L B=60°, LC =75, £D=45°
LE=60°, /ZF=75°.

Whether in these conditions they are simﬂar or not 7 If yes then why ?

w%mm@ﬁt%wm'mmﬁﬁﬁaaﬁaﬁw
tmmmmwalomwwmﬁm%.mﬁ
T T AR |

b

A ladder is placed in such a way that its foot is at distance of 5 meter from a

wall and its top reaches a window 10 meter above the ground. Find the length
of the ladder. |

g9t /| OR

af% Pt Brger @ o 6 ¥, 8 A T 10 WA &t & frm F B aw TR
Praw & 1

If the sides of any triangle are 6 cm, 8 cm and 10 cm, then prove that it is a
right angled triangle. '
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If the areas of two similar triangles are in the ratio of 9:16, find the ratio of
their corresponding heights.

m'.l OR
A W AABC & ADBC wy sy ¥ |

frg AR 5 ABZ+CD? =BD? + 4C?

[h
B 3 c

in the given A ABC, AD is perpendicular on the side B¢ . Prove that

AB2 +CD% =BD? + AC?

4
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9 TR 6 4 7, Pud 10 % WG 8 ¥ @ P a ouw wmaw AT | 2
If the mean of 6, 4. 7. P and 10 is 8, then find the value of P
) | ¥u3x /| OR |
Frafafas Yool & agew w #ifg -
15, 14, 19, 20, 14, 15, 16, 14, 15, 18, 14, 19, 15, 17, 15
Find the mode of the following observations :

15, 14, 19, 20, 14,715, 16, 14, 15, 18, 14, 19, 15, 17, 15

10 TF WA & %1 W 4 ¥ T FF d B wimar s HA | 2
Find the probability of getting a number greater than 4 in a single throw of adie.
sqa /| OR

uﬁmmﬂ%aﬁmﬁmmt,eﬁmmﬁwﬁ%aﬁm:ﬂﬂaﬁmi

If the probability of raining tomorrow is 0.4, then what will be the probability of
not raining tomorrow. http://www.mpboardonline.com

1 foz ffve fed g9 F = A o | T T R, Sar & wEiwRE 3
B ¥

Prove that the perpendicular from the centre of a circle to a chord, bisects the
chord.

duq /| OR
fog #iftrg g9 % ©F & smw A W Fw AT A ¥

Prove that the angles in the same segment of a circle are equal
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sl sl ¥ 1 P ¥ Wyt Ym ATy o | ofy PT=10 &,

=Sﬁﬁ£3#mm%§|

In given figure, a line drawn from P intersects the circle at points A and B.
PT is a tangent drawn from point P. If PT = 10 cm, P4 = 5 cm, then find the
length of AB.

—5—4A__ 7%

s | OR
10 0 Brwr & @& g9 A 16 T @ & S A v ¥ 9w F Fz Q
offer & gt wE HifTg |

In a circle of radius 10 cm the chord of length 16 ¢m is drawn. Find the distance
of the chord from the centre of a circle.

13 ﬁﬁﬁftﬂauﬁwmeﬂrﬂﬁmﬁﬁiqwtlﬁahmﬂnm&mw% 3
@ n & 99 A SR |
59, 62, 65, n, n+2, 72 , 85, 94
The f‘ollmi;ing results are taken in increasing order. If median is 69, then find the
value of n,

59, 62, 65, n, n+2, 72, 85, 94
vql /| OR
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Class Interval : 25-35 35-45 45-55 55-65 65-75
Frequency : 6 10 P 12 4
14 % §d # 20 wfard ¥ wowdl @ wom Pe e A & T ¥
A = FmR ;| 143 3.5 5-7 79 9-11
i N FEw 7 8 2 2 1
IEF B B qgwH A HRAC |
A survey conducted on 20 houscholds is given in the following frequency table for
the number of family members : '
Family size : 1-3 3.5 5-7 7-9 9-11
Number of families : 7 8 2 2 1
Find the mode of above data.
—
dqa /| OR
1990 & T o4 TS T 7 I fan § TR ¥ Foafafas swerd &
HER YT @ 1995 & Fre wd gEss §9 fieg
1990 ¥ & @ 992 TWE ¥ |
1995 ¥ po WY 1488 ¥ ¥ |
Calculate the cost of living index number for the year 1995 on the basis of 1990
of a medium family from the following information :
Total expenditure in 1990 is 992 Rs.
Total expenditure in 1995 is 1488 Rs,
SPI2/RS-2023 | 1 RN R RY @ eTo.
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T =AW :

25-35

35-45

e

45-55

55-63

65-75

A

6

10

P

12

4

The mean of the fellowing frequency distribution is 49.5. Find the value of P.




15 Prafifen Tl P 2 Reler fiy & o ARG
Iv+2y=4]
2.\'+3)'=|4

Solve the following system of equations by elimination method :
Jx+2y=4]

2x+3y=14

a9 /| OR
a w A WA BT B R s R

ax+y=5
3x+y=1
& s Afadw s @

Find the value of a for which the system of equations
ax+y=>5
Ix+y=1

has unique solution.

16 2 FEt ol 3 A & 7w 800 T ¥ ok 4.3t ww 3 A & yw 1000 v
t 13 3l olx 3 A &1 g ww Afg

The cost of 2 chairs and 3 tables is Rs. 800 and the cost of 4 chairs and 3 tables,
is Rs. '1000. Find the cost of 3 chairs and 3 tables.

41 /| OR

s g B A B oMy F [ B AY B P A AR A AT 70 By
¢ ofit afl wam B A A WA A DAY B OGN AT W D dew o5
gar &, @ 9 I N AW g T A

If twice the age of Salma is added to the age of Salma's mother, the sum becomes
70. If twice the age of Salma's mother is added to the age of Salma, the sum
becomes 95. Find their present ages.
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then prove tha S b
03 b3 3

@@ /| OR

ofy (1+r),(3+x),(6+x) P omua ¥ &, @ x & UM W@ BT |

If (1+x),(3+x),(6+x) are in continued proportion then find the value of x.

18 e xX-6x-55=0 @ gx fft ¥ T BN 4

Solve the equation x”> —6x—55=0 by formula method.

S [ OR

11
o o, p TEEW 3x2-Sx-7=0 & W &, a 3Ty W W TR A

_ | O
If o,P are the roots of equation 3xy%_5x—7=0, then find the value of E+E.

19 B g W @ AR & M &1 e BT 60° ¥ | @ g ¥ 40 . A 4
§ IR ot X A W et & T @ 30° # W ¥ 1 dAR @ S
e B | |
On a point the angle of elevation of a tower is 60°. After moving 40 m away
from the tower, the angle of elevation of tower becomes 30°. Find the height of

the tower. |
dgg | OR

SP12/RS-2023 | B . (RN« ero.



w A w &l Rea 200 0. Sk .aﬁﬁ&aﬁ,ﬂwﬁﬂﬂ-&imm
O & oA B 45° q 60° ¥, A @ Gard WK PG |

The top of the Cliff is 200 m high. Observing from the top of the ciff the angle
of depression of the top and the bottom of a tower are 45° and 60°, Find the height

of the tower

20 o T ¥ q @ v W g @ oA wa, o A 9 T2
SRR TN
Find the length of longest bamboo which can be put in a room of 9 m long,
6m broad and 2 m high. |

saq1 /[ OR

Rt v w1 A 1540-7F 0 ¥ 1 7w % T 50° B BT ARE T

3, @ gu @ Prem ww @it |
The area of sector is 1540 sq. cm. The sector subtends an angle-of 50° at centre

then find the radius of the circle.

21 qmﬁ&sﬁﬁﬁﬁﬂsmmwoﬁeﬁtzoﬁ% lﬂﬁlmﬁﬂﬁ -4~
-m&lzﬁ%ﬁrmﬁmmaﬁaﬁml '

The diameters of the two ends of a bucket are 40 ¢m and 20 cm respectively.

If the depth of bucket is 12 cm, then find the volume of the bucket..
S | OR

wéﬁﬁm%ﬁ%%wﬁﬁﬂﬁwaﬁmmmﬁww%l
aft A % R &1 w02 ¥ b, @ g A waE o R

An iron sphere of diameter 6 cm is melted and drawn into a cylindrical wire. If

the diameter of wire is 0.2 centimeter, then find the length of wire.

SPIZ/RS-2023 | h 14 AR 1 B-o.
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a’ (b+c)+b2 (.1:+.:1)+c:2 (a+b)+2abc

Find cyclic factors
a (b+c) +b? (c+a) rc? (a+b)+2abc

JwT /| OR

2

- 1
qftA=x_';_’:'._l.air(B=J;+ N A+B =T AfAT |

i | X" +2

It .4:"—’2"‘—‘1 and B= J;“ , then find A+B.
' -1 x" +2 :

) 50,
%wmﬁwﬁwmﬁnTtlmmml 5

' 50
The sum of a number and its reciprocal is Kl

Jq@ | OR

% Rl @ ax o qe B ong ol 8w AR W g W PrHE 28 3
framdii 3 aiwm o T Aifig

The product of a student's age four years ago and his age 8 years latter is 28.
Find the present age of student.

. Find the number.

24 8000 TW W 3 A & 5%mﬁawma€tu%ﬂﬁ%mmﬁﬁmll 5

Find the compound interest on Rs. 8,000 at the rate of interest 5% per annum
for 3 years. -

@ | OR |
TF Uiy B WA 440 B TE W 200 §. HRG TN q 244 7. T WE AT
ﬁ&mwhw.ﬁ%ﬁmﬁwuﬁnmml

A metal pot is available for Rs. 440 cash payment or for Rs. 200 cash down payment
and Rs. 244 to be paid back after

one moenth, Find the rate of interest ch ed
under instalment plan. e

SP12/RS-2023 |
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25t By ABC @ v g WRA, R AB=5 ¥, BC=7 W ol 5

S ABC=60° ¥ 1 Ta & e 0 fafgn

Construct the circumcircle of triangle 4B in which, AB=5 cm, BC =7 ¢m and

/ ABC =60°, Write the steps of construction also.

s | OR

@W@WHW%@TW}W@WS%%IW%WT&

fafaa |

Construct the incircle of the equilateral triangle whose one side is 8 cm. Write

the steps of construction also.

26 Frafafaa wduimr & g difag -
cosec A , _cosec 4 _ 2 sec? A
cosec A—1 cosec A+1
Prove the following identity :
cosec A + cosec A = 2sec? A
cosec A-1 cosec 4+1
yar /| OR
foz Aifag
. o_ °_ 4
sin (90° - A)cos(90 )=l~sin2A
tan A
Prove that :
i °— 90°- 4
sin(90° - A)cos( ) _ | —sin? 4
tan 4
g
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